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61.  The magnetic moment is measured in Bohr Magneton (BM).

Spin only magnetic moment of Fe in [Fe(H,0),]*" and [Fe(CN),J** complexes respecitively is :
(1)3.87B.M. and 1.732 B.M.

(2) 6.92 B.M. in both

(3)4.89 B.M. and 6.92 B.M.

(4)5.92B.M. and 1.732 B.M.

DT Tl BT IR FISH (BM) H #7097 1T 2 |

Fe &1 ddel FahvT gradbd 3TEPl Wdgell [Fe(H,0),]°" 3R [Fe(CN), J* & wwer: & |
(1)3.87 B.M. 3R 1.732 B.M.

(2) =i H 6.92 B.M.

(3) 4.89 B.M. 3R 6.92 B.M.

(4)5.92 B.M. 3R 1.732 B.M.

Question ID:7155054110
Ans. 4
Sol.  [Fe(H,0),]* [Fe(CN), [
Fe" = [Ar] 3d° 45° Fe" = [Ar] 3d° 45°
T T
strong field ligan (CN®) so pairing occurs.
AL|TL T
.. unpaired e® =5 unpaired e® =1
p=n(n+2) p=n(n+2)
=55+2) =1+2)
- 57 -3
=592B.M =1.732B.M

62.  Alkali metal from the following with least melting point is;

(1)Rb 2K (3)Cs (4) Na
fefaRad # 9 =il AR o1 wa B Todid fawg e g;
(1)Rb 2K (3)Cs (4) Na
Question ID:7155054109
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Ans. 3

Sol.  Onmoving down the group in alkali metals melting point ¥ se. So CsBp least.

63. Compound from the following that will not produce precipitate on reaction with AgNO, is :

(I)O(
) @—CH =CH-CH,-Br

Br

%

3)

) Br

Y

ferfera # & A Sifs AgNO, & W1er SIffHar 4 JfaeiuoT T8l <l &
Br

(1)

&

(2) CH=CH-CH,—Br

olo

Question ID:7155054115

Ans. 1
Br ®
Sol. O( _— O + B
less stable carbocation
64. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
O
Assertion A : /\Cll/u\can be subjected to Wolff-Kishner reduction to give )\l/\
Cl
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Reason R : Wolff-Kishner reduction is used to convert g into / CH2\
VAN

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are true but R is NOT the correct explanation of A

(2) Aistrue but R is false

(3) Both A and R are true and R is the correct explanation of A

(4) Ais false but Ris true

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

O
WmA:MWWWQ#)\l/\éW%‘I
Cl

Cl

O
SRR : A [HeR AU~ BT IHRIRT g &1 ,CH,( # uRafea e # grar & |
77N\

IWIGd I & Fwed # A I T fJwedl 3§ |8l IR Bl g
(1) A3IR R SH1 W&l 8 W] R, A &l &) IRAT 81 2 |
(2Q)A¥W 8 R R 2|

(3) ASIRR T WEl 8 W] R, A &l 2! IRAT & |

(4) AR & I R¥ 7 |

Question ID:7155054118

Ans.

4
O

N,H,/EtcPK® 0
Sol. >

65.

1 T S

— Wolf - kishner reduction is not suitable for base sensitive group.

IfNi** is replaced by Pt** in the complex [NiCL Br, ], which of the following properties are expected to get
changed?

A. Geometry

B. Geometrical isomerism

C. Optical isomerism

D. Magnetic properties
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(1)AandD (2)A,Band C (3) A,Band D (4)Band C

Ife Hegel [NiCLBr,]> # Ni2* @1 P2 1 gfovenfoa v fea wran ar fFeiferad # 9 b1 qorerdi uRads wwmg
g7

A. SR

B. Saifael weraradr

C. gavT FHIaIed

D. g IORH

(1)A3RD (2)A, B3R C (3) A,BaiRD (4) B3R C

Question ID:7155054113

Ans.

Sol.

66.

3

[NiBr2Cl ] * = This complex species is tetrahedral as Br® & CI® are weak field ligands.

[PtBr,CL ] =As Pt belongs to 5d series. this complex species is square planar.

* Both the complex species are optically inactive.

[NiBr,CL ]2, being tetrahedral does not show geometrical Isomerism

* [PtBr,Cl ] > shows two geometrical isomers.

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : [CoCI(NH,),]*" absorbs at lower wavelength of light with respect to [Co(NH,) (H,0)]**
Reason R : It is because the wavelength of the light absorbed depends on the oxidation state of the metal ion.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are true but R is NOT the correct explanation of A

(2) Both A and R are true and R is the correct explanation of A

(3)Aistrue but R is false

(4) Ais false but Ris true

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
3f¥eperT A : [CoCI(NH,), " @1 gerl § [Co(NH,)(H,0)]*" Yrel &1 H aRT—aed WR Jfaeifia gie 2 |
HROTR : FIS T GHTRT &7 T A o1 IMIT Dl MARAIBROT faey W iR & 2 |

SWIFT HUAT & AR W A9 T T [Apedl § ¥ Hed I IR aI g4 -

(1) Both A and R are true but R is NOT the correct explanation of A

(2) Both A and R are true and R is the correct explanation of A
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(3) Aistrue but R is false
(4)Ais false but R is true
Question ID:7155054111
Ans. 4

Sol.  H,Oisstrong field ligand compared to chloricle and Co* ion is present.

- CFSE is higher for [Co(NH,), H,O]", hence it will absorb at lowar wavelength.

67.  Asolution is prepared by adding 2 g of "X" to 1 mole of water. Mass percent of "X" in the solution is

(1)5% (2) 10% (3)2% (4)20%

1 mole 5t # 2 g "X" ™ Wy faer # "X" &1 #iel uforerd ®i grme?

(1)5% (2) 10% (3)2% (4)20%
Question ID:7155054105
Ans. 2

W Mass of solute

— 0= x100
Sol. W % Mass of solution

2
= —x100 =10¢
20 X 10%
68. Compound 'B'is
NaNO,  NH,SH
> A > B
o HCI HO ~ Major
HS NH,
1 2 3 4
(1) 2) og @ SH “4) OH
Afrs B # -
NaNO, ~ NHSH
o HCI HO ~ Major
HS NH,
1 2 3 4
) 2) og @ SH “4) OH
MATRIX JEE ACADEMY

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 6




=== M ATRIX Question Paper With Text Solution (Chemistry)
‘* JEE Main April 2023 | 11 April Shift-2

Question ID:7155054119

@ o, Q NHsH @

69. One mole of P, reacts with 8 moles of SOCI, to give 4 moles of A, x mole of SO, and 2 moles of B. A, B and

x respectively are

(1) POCL, S,Cl, and 2
(2) PCL,,S,Cl, and 4
(3) PCL,,S,Cl,and 2
(4) POCIL,, S,Cl, and 4

P, &1 U el SOCL, & 8 Hictl A AfAfeha1 dxed AT 4 Hiel, SO, BT x AR BT 2 Hled <al 51 A, B3R
X AT T

(1) POCL,, S,CL, 3R 2

(2) PCL, S,Cl, 3R 4

(3) PCL, S,Cl, 3R 2

(4) POCL, S,CL, 3R 4
Question ID:7155054108
Ans. 2

Sol. P, +8SOCI, — 4 PCl, +2S Cl, + 4SO,
70. Match List I with List I1

LISTI LISTII
Complex Colour
A.Mg(NH,)PO, I. brown
B. K,[Co(NO,),] II. white
C.MnO(OH), I11. yellow
D. Fe [Fe(CN),], IV. blue

Choose the correct answer from the options given below :

(1) A-IL, B-IIL, C-1V, D-I
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(2) A-1I1, B-1V, C-II, D-1
(3) A-11, B-1V, C-1, D-1II
(4) A-11, B-11I, C-I, D-IV

70. < T TR qiferd X -

GGl | T 11
NEX] L&l
A.Mg(NH,)PO, L sgRr
B. K,[Co(NO,) ] 1. %%
C. MnO(OH), 1. der
D. Fe, [Fe(CN),], V. e

T A N e § 94 8 SR & gH -
(1) A-11, B-1IL, C-1V, D-I
(2) A-1IL, B-1V, C-II, D-I
(3) A-11, B-1V, C-1, D-III
(4) A-11, B-1II, C-I, D-IV
Question ID:7155054114
Ans. 4
Sol.  Mg(NH,) PO, = White
K,[Co(NO,),] = Yellow
MnO(OH), = Brown
Fe,[Fe(CN),], =Blue
71. Given below are two statements :
Statement I : Ethene at 333 to 343 K and 6-7 atm pressure in the presence of AiEt, and TiCl, undergoes
addition polymerization to give LDP.
Statement I1 : Caprolactam at 533-543K in H,O through step growth polymerizes to give Nylon 6.
In the light of the above statements, choose the correct answer from the options given below :
(1) Statement I is true but Statement Il is false
(2) Both Statement I and Statement II are false

(3) Both Statement I and Statement II are true
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(4) Statement I is false but Statement I1 is true

< QU U 7w —

B 1 : T 333 K — 343 K 19 WR o211 6-7 atm 16 &R AiEt, 3R TiCl, @1 Suferfer # ANTeed ageaiaxo
HLDPTar g |
S 11 : BUTeladed 533-543K A9 WR ST H Ugqlg agaIdIdrvl § A1gaie - 6 <l & |
IR &Y T B & He ¥, AT T werAl § | FE B gA BRI —
(1) BT 1 98T 8 olfdhd w11 el ©
(2) B 1 vd ®o 11 3HT Tad 8
(3) SFI BT B '
(4) B 1 Tara & T dd 11 98 8
Question ID:7155054121
Ans. 4
Sol.  Statement -1 : HDPE is formed by TiCl, & Al (E+),

Statement -I1I : Nylon -6 is formed by caprolactum

72. Which of the following compounds is an example of Freon?
(1) CHJF, (2) CF, (3) C,CLF, (4) C HF,
1 AIfTepT # 1 Wi BT IR 7 —
(1) CHJF, (2) CF, (3) C,CLF, (4) C HF,
Question ID:7155054112
Ans. 3

Sol.  Freons are chlorofluoro carbon
73. Given below are two statements :
Statement I : In the metallurgy process, sulphide ore is converted to oxide before reduction.
Statement II : Oxide ores in general are easier to reduce.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement [ and Statement Il are incorrect
(2) Statement I is incorrect but Statement II is correct
(3) Statement I is correct but Statement Il is incorrect
(4) Both Statement [ and Statement I are correct

Given below are two statements :
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DU : gIIHH UHA H ThIgS D Pl IUARIT A Ugdl ffadrss # yRafkia fdar S = |
$oA 11 : SFATSS IRIRD! DY UARIT HRAT AT BIll 2 |

SURIRT BT & AR W Al & T fdpedl § A qed S SoR @l g+
(1) B3R 11 M1 3N 2 |

(2) T 1 39T U] o [ 9 ¢ |

(3) T 1 9 UReg Ho 11 3N ¢ |

(4) DA 1R S 9T B |
Question ID:7155054106
Ans. 4

Sol.  27ZnS +30, — 2Zn0 + 280,

*Onides on carbon reduction forms CO, while sulphide on carbon reduction gives CS,.
CO, is more volatile compared to CS, there fore oxides are easy to reduce.

74. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : A solution of the product obtained by heating a mole of glycine with a mole of chlorine in
presence of red phosphorous generates chiral carbon atom.

Reason R : A molecule with 2 chiral carbons is always optically active.

In the light of the above statements, choose the correct answer from the options given below :

(1)Ais true but R is false

(2) Both A and R are true and R is the correct explanation of A

(3)Ais false but R is true

(4) Both A and R are true but R is NOT the correct explanation of A

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
JAABAT A : AT BB Bl IURATT H U Al TSU DI Ueb HIeT FARI H T DI R YT IS Dl
I PHTIRA BIT URATY] Ieq~ BT 8 |

BRI R : TT BT Deal dTelT AV AT avT Afha BT 2|

SWIT HUAT & Fwad 4 1 T W fapedi | T8 SR Bl g+ -

(1) A|X & W R 399 2B |

(2) AR R TF! ¥ 8 W] R, A & &I @R&T 7 |

(3)A3NEI & WIR I B |

(4) A3IRR TH 9 € W] R, A & |l AT 781 2 |
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Question ID:7155054120
Ans. 1
Red P + Cl, *
Sol.  H,N-CH, - COOH vz > HZN—(IIH —COOH
Cl
— Meso compound are optically inactive
75.  The major product formed in the following reaction is
C i CH(OH) —CH— CH,—CHO Zn(Hi)/HCI > Major products
CH,
CH,— CH(OH)—CH— C,H;
A (|3H3
CH,— CH=C—C,H;
B. (|?H3
CH,—C=CH —CH;
C. (|3H3
e
CH,

Choose the correct answer from the options given below :

(1) D only (2) Conly (3)Aonly (4) B only
ffaRaa sifaforar # o917 U ST 2 |
CHs— CH(OH) —CH—CH,—CHO Zn(Hi)fHCI > Major products
eh,

CH,— CH(OH) —CH— C,H;
A. |CH3

CH,— CH=C—CH;
B. (|:H3

CH,—C=CH—CJH;
C. |CH3
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D‘ C6H5 ;;

CH,
A fed T faeni # A el SR Bl g
(1)@aa D (2) ®aa C (3) dact A (4) daa B
Question ID:7155054117

Ans. 4

Sol. CH— ICH — ICH — CH,—CHO
OH CH,

A lZn(Hg)/HCl

(]
CJH.—CH— (le— CH,— CHO

CH,

CH;—CH=C—CH,—CHO
CH,

76.  Which one of the following pairs is an example of polar molecular solids?

(1) SO,(s), CO,(s)  (2)SO,(s),NH,(s)  (3)HCI(s),AIN(s) (4)MgO (s),SO,(s)

Preforiad # 1 BRI I R afad SR & SaTERIT § ?

(1) SO(s), CO,(s)  (2)SO,(s),NH,(s)  (3)HCI(s),AIN(s) (4) MgO (s), SO(s)
Question ID:7155054102
Ans. 2

Sol. SO, and NH, are polar molecules. They are constituent particles of polar molecular solids.
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+

(i) Nal, HpO,
(ii) Mg, Dry ether _

[X]

77.  HC—CH,—CH—CH, -
| (ii1)D,O Product

OH

Product [X] formed in the above reaction is :

i
0 H3C—CH2—(|2 —CH,

OH
H,C—CH,— CH—CH,
(2) |

D
(3) H,C—CH,— CH=CH,
(4) HC—CH =CH—CH,

(i) Nal, HPO,
(i) Mg, Dry ether _

[X]

H,C—CH,—CH—CH, 2
| (ii1)D,0 Product

OH
IWRIa AT H 941 IR [X] B -

I
(1) HC—CH,—C —CH,

OH
H.C—CH,— CH—CH,
2) |

D
(3) H,C—CH,— CH=CH,
(4) HC—CH =CH—CH,
Question ID:7155054116
Ans. 2
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(i) Nal, H,PO,

Sol. H,C—CH,~ CH—CIL,

> HC—CH,—CH—CIL,

OH I
l(i) Mg, Dry ether
H,C—CH,— |CH Mg 1
CH,
lDzO
H.C—CH,— |CH —D
CH,

78.  Forachemical reaction A+ B — Product the order is 1 with respect to A and B.

Rate [A] [B]

mol L' S mol L' mol L'

0.10 20 0.5

0.40 X 0.5

0.80 40 y

What is the value of x and y ?

(1) 80 and 2 (2) 80 and 4 (3)40 and 4 (4) 160 and 4

& TS MRfe Affhar A+ B — Sare, @ g sifAfdhar o dife AR B @l golr 7 18 |

a [A] [B]

mol L' S! mol L mol L

0.10 20 0.5

0.40 X 0.5

0.80 40 y

X 3Ry &AM a1 8 ?

(1)80 and 2 (2) 80 and 4 (3) 40 and 4 (4) 160 and 4
Question ID:7155054104
Ans. 1
Sol. r=KJA][B]

fromexp. (1) & (2)
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R A B

, \A, )| B,

e o)

04 \x)\05

x =80
fromexp. (1) & (3)

ﬂ_(ﬁj 05)
0.8 X y

y=2

79. Which hybride among the following is less stable?
(1) HF (2) BeH, (3)LiH (4) NH,
frfaRad gesss o 9ed H s © ?
(1)HF (2) BeH, (3)LiH (4) NH,
Question ID:7155054107
Ans. 2

Sol.  *BeH, ishypovalent.
80.  What weight of glucose must be dissolved in 100 g of water to lower the vapour pressure by 0.20 mm Hg?
(Assume dilute solution is being formed)

Given : Vapour presure of pure water is 54.2 mm Hg at room temperature. Molar mass of glucose is 180 g

mol™!
(1)3.59¢ (2)4.69 ¢ (3)3.69 ¢ (4)2.59 ¢
S @ 99 19 BT 0.20 mm Hg T% "e & o’ 7@ & fdoa R T 100 g U 3 °gieT a1y |
(= foran s {6 a9 fderae a=ar ©)
o 1 & - A & AU R Yg ofcd BT a1 T19 54.2 mm Hg 8 | 7@ &1 Aol g 180 g mol '8 |
(1)3.59 ¢ (2)4.69 ¢ (3)3.69 ¢ (4)2.59 ¢

Question ID:7155054103

Ans. 3

Sol. PXP_X S = XghwoSe
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020 — nglucose
542 n glucose+5.55
00— 0-02055
mass of glucose=3.7¢g
81.  Thenumber of possible isomeric products formed when 3-chloro-1-butene reacts with HCI through carbocation
formation is
FETAT a1 FHEEaId] SRl b He&T 2 919 3-aARI-1-ggcH HCl & 1er 3ffifshan wrde
TR Feac! | i 2 |
Question ID:7155054131
Ans. 4
Cl H@ Clil ®
s —_— 1
AN (from HCI) /\@/ S
Hydride ©
l shift J, ¢l
Cl Cl
/e\/ /K/
Sol. l Cle Cl
(3 isomer)
1 product
82.  The number of correct statements from the following is

A.E_, is anintensive parameter
B. Anegative E® means that the redox couple is a stronger reducing agent than the H/H, couple.

C. The amount of electricity required for oxidation or reduction depends on the stoichiometry of the electrode
reaction.

D. The amount of chemical reaction which occurs at any electrod during electrolysis by a current is proportional
to the quantity of electricity passed through the electrolyte.

freferfad # | W& PAl @ dwe 2 |

A.E_U& T8 QU 8|
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B. ZFvles E© &1 31ef & & vefad w1 HY/H, @1 ol 4 yadl 39are @ |

C. SiTaAIBRoT JferaT T & Y emaeass fAgyd aRT &1 AFT Soldgrs IfWfshar & Wi w) ik
Bl B |

D. faggd aRT gRT dgYd Au=e H RIS [Jae S 711 95gd Aucy ¥ Jarsd f[aqgd arT &I 94131 &

|HEEAH B B |

Question ID:7155054127
Ans. 4
Sol.  Given statements A, B, C and D are correct.
83.  The maximum number of lone pairs of electrons on the central atom from the following species is
ClO;, XeF,, SF, and I
& TS yonfoRl # fHe SHdl g1 URAY] W |aifid G § Uhidl I ©
ClO;, XeF,, SF, W I}
Question ID:7155054123
Ans. 3
F I
lE:)?e <F I iF 2}@0
0 F | ~F {
2L.p 1lp 30p
Sol. 0
010
O
84.  Number of compounds from the following which will not produce orange red precipitate with Benedict solution
is
Glucose, maltose, sucrose, ribose, 2-deoxyribose, amylose, lactose
T [ AT @) der o Rfsae faeae & 1y AR dTel 3raery el a9 © |
Question ID:7155054130
Ans. 2
Sol.  Amylose, Sucrose
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85.  The number of correct statements from the following is

A. For 1s orbital, the probability density is maximum at the nucleus
B. For 2s orbital, the probability density first increases to maximum and then decreases sharply to zero.
C. Boundary surface diagrams of the orbitals encloses a region of 100% probability of finding the electron.
D. p and d-orbitals have 1 and 2 angular nodes respectively
E. probability density of p-orbital is zero at the nucleus
fAforRad # ¥ 921 Bl @ W& § ‘The number of correct statements from the following is
A. 1s ded & fon wiisar e i R 31 2 |
B.2s %&d @ folg UIiadT & Ugel Mfdhdd ad ded & fhe doll 9 31 @ gedl & |
C. anfdeal & HM1 Ad8 3N Selbg™i & IR S BT 100% UTfAHar dTel &3 Bl axd 2 |
D. p3iR d-werdt # w1 3R 2 diofig s 2|
E. A% W p-$Herd & Uied 8- I & |
Question ID:7155054124
Ans. 3

Sol. A, D andE statements are correct.

2
W

r

For 2s orbital, the probability density first decreases and then increases.
Atany distance from nucleus the probability density of finding electron is never zero and it always have some
finite value.

86.  The total number of intensive properties from the following is

Volume, Molar heat capacity, Molarity, E® cell, Gibbs free energy change, Molar mass, Mole

1 5 & gt e YorHl @l wer gl
3R, HIeR 341 g, B cell, fred gaw Syofl uRacH, Aok g™, Aid
Question ID:7155054125
Ans. 4
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Sol.  Molar heat capacity molarity, E°
Molar mass are intensive properties
87. 4.5 moles each of hydrogen and iodine is heated in a sealed ten litre vessel. At equilibrium, 3 moles of HI were

found. The equilibrium constant for H(g) +1,(g) =2HI (g)is
BISSIo 3R RIS Udd & 4.5 Hidd Bl Uh a9 oflex g+ 91 § T4 fdhar 1 | arearaen W) HI & 3 |iel

el | Hy(g) + L(g) ==2HI (g) & forq areiraer Rericd 2l
Question ID:7155054126
Ans. 1
Sol. H, (g)+1(g) =2HI(g) ateq.2x=3,x=1.5
att=0 4.5 45 0
ateq 45-x45-x2x
3 3 3
. 303 3
10 10 10

()

[HIT . 10

K= [HIL] (3 )( 3371
o))

88.  Thenumber of correct statements about modern adsorption theory of heterogeneous catalysis from the following

is

A. The catalyst is diffused over the surface of reactants.

B. Reactants are adsorbed on the surface of the catalyst.

C. Occurrence of chemical reaction on the catalyst's surface through formation of an intermediate.

D. It is a combination of intermediate compound formation theory and the old adsorption theory.

E. It explains the action of the catalyst as well as those of catalytic promoters and poisons.

fforRaa # | smgfre fawaif ISR & srferenvyr fAgra & foly W&! weAl &1 | 2 |
A. JFHRBI BT Ad8 W SIRG faAR0T BNl 2 |

B. MRS SARS & Adg U= AT 81 91d 2 |

C. PR P g W IWRMG URIHAT tah Aegadd] Wre- &1 Argq ¥ 811 & |
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D. I8 #egadi Afe g iR g sifereiyor g &1 an 2 |
E. I8 SARG &I a1 & A1 —A1T IING d8id 3R fAvdRe &1 fhar & ¥ Ar &xar g |

Question ID:7155054128
Ans. 3
Sol. B, CandD are correct.
89.  The volume of hydrogen liberated at STP by treating 2.4 g of magnesium with excess of hydrochloric acid is
x 102 L
Given : Molar volume of gas is 22.41.at STP.
Molar mass of magnesium is 24 g mol™
2.4 ¢ ARTRIH &1 SR BRSIFAING 3 | SIMWfHAT dRa IR STP WR Jad BRglo &l AR
x 102 L2
far & - 1 @1 HierR 3 STP wR22.4L %8|
HARTEIRM &7 AIleR S 24 gmol 1B |
Question ID:7155054122
Ans. 224
Sol. Mg+ 2HCl—— MgCl, +H,
Givenmoles 24¢
P 0.1
24
formed molesof H, = 0.1
Volume at STP =0.1x224=2241t
=224 x 1071t
90. Mg(NO,), XH,O and Ba(NO,), YH, O, represent formula of the crystalline forms of nitrate salts. Sum of X
and Yis
90.  Mg(NO,), XH,0 and Ba(NO,), YH,O Firgge &quii & ficeliad wu @ 3= &I it o 8 | X 3R Yar
AT =
Question ID:7155054129
Ans. 6
Sol.  Mg(NO,), .6H,0 is a hydrated salt whereas Ba(NO,), is a anhydrous acid.

LX+ty=6
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